
3. Addition    
                                                     

953 + 486 + 758 + 468 = 
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812 + 6 + 48 + 692 = 
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4 + 86 + 7.268 + 924 = 
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824 + 496 + 75 + 3.458 = 
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9 + 75 + 486 + 8.567 = 

           

 +          

 +          

 +          
           

           
 

2.548 + 3.268 + 9 + 81 = 

           

 +          

 +          

 +          
           

           
 

4.523 + 246 + 1.867 + 97 = 

           

 +          

 +          

 +          
           

           
 

468 + 725 + 4.839 + 1.284 = 

           

 +          

 +          
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3. Addition Ergebnisse 
 

953 + 486 + 758 + 468 = 

   9 5 3      

 +  4 8 6      

 +  7 5 8      

 +  4 6 8      
  2 2 2       

  2. 6 6 5      
 

812 + 6 + 48 + 692 = 

   8 1 2      

 +    6      

 +   4 8      

 +  6 9 2      
  1 1 1       

  1. 5 5 8      
 

4 + 86 + 7.268 + 924 = 

     4      

 +   8 6      

 + 7. 2 6 8      

 +  9 2 4      
  1 1 2       

  8. 2 8 2      
 

824 + 496 + 75 + 3.458 = 

   8 2 4      

 +  4 9 6      

 +   7 5      

 + 3. 4 5 8      
  1 2 2       

  4. 8 5 3      
 

 

 

 

 

9 + 75 + 486 + 8.567 = 

     9      

 +   7 5      

 +  4 8 6      

 + 8. 5 6 7      
  1 2 2       

  9. 1 3 7      
 

2.548 + 3.268 + 9 + 81 = 

  2. 5 4 8      

 + 3. 2 6 8      

 +    9      

 +   8 1      
   2 2       

  5. 9 0 6      
 

4.523 + 246 + 1.867 + 97 = 

  4. 5 2 3      

 +  2 4 6      

 + 1. 8 6 7      

 +   9 7      
  1 2 2       

  6. 7 3 3      
 

468 + 725 + 4.839 + 1.284 = 

   4 6 8      

 +  7 2 5      

 + 4. 8 3 9      

 + 1. 2 8 4      
  2 2 2       

  7. 3 1 6      
 

 


